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AT RR BT T t =7cm m 430
SRR L T t =7cm nt 2,140
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SHEERREIMT T (t=7cm)

L= 7.5 + 84.0 + 4.3 + 44. 5 = 140.3 m
O 5 FEB O Ok Z DAl
L= 7.4 + 210.0 + 7.4 + 60. 0 = 284.8 m
O S EB @1 Ok Z 0l
X 425 m
SHAEIRUE L T
A= 2,140 = 2140 nt
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SR GEREREE 1=0. 2km)

V= 2,140 X 0.07 = 149.8 m
EAERALy (A SH%)
149. 8 X 2.35 = 352.0 t
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PEET (N, t=3cm)
V= 2,140 X 0.03 = 64 m
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Pt0.0 0.0 7.5 0. 00
Pt20. 0 20.0 7.5 7.50 20. 00 150.
Pt32.3 32.3 6.7 7.10 12. 30 87.
Pt40. 0 40. 0 7.5 7.10 7.70 54.
Pt60. 0 60. 0 7.8 7.65 20. 00 153.
Pt73.0 73.0 7.7 7.75 13. 00 100.
Pt73.0 73.0 3.5 5. 60 0. 00 0.
Pt80. 0 80.0 4.3 3.90 7.00 27.
Pt84. 0 84.0 4.3 4. 30 4. 00 17.
ik 7.9 X .3 = 10. 580. 0
@
Pt0.0 0.0 7.4 0. 00
Pt20. 0 20.0 7.5 7.45 20. 00 149.
Pt40. 0 40. 0 7.5 7.50 20. 00 150.
Pt60. 0 60. 0 7.3 7.40 20. 00 148.
Pt80. 0 80. 0 7.4 7.35 20. 00 147.
Pt100. 0 100. 0 7.5 7.45 20. 00 149.
Pt120. 0 120. 0 7.5 7.50 20. 00 150.
Pt140. 0 140. 0 7.4 7.45 20. 00 149.
Pt160. 0 160. 0 7.4 7.40 20. 00 148.
Pt180. 0 180. 0 7.4 7.40 20. 00 148.
Pt200. 0 200. 0 7.4 7.40 20. 00 148.
Pt210. 0 210.0 7.4 7.40 10. 00 74. 1560. 0
& % 2140.




